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[TO2-FM119 Test 0]

[pre-CU] mc_peds.051213202630_0_FM119_preltaly calu_collect_mu.T00.txt [ 25.0C]

[CUold] muonPeds.330000869_BT13_IDEAL_digi_TO02.txt [ 25.0C]

[CUnew] muonPeds.digitization-latte-v1r030603p2_700000277_digi_DIGI_T02.txt [ 25.0C]




T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, LEX8]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, HEX8]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal Position [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for Pedestal Position [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, LEX8]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, HEX8]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Pedestal FWHM [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for Pedestal FWHM [Gain index 5]
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T02-FM119 pre-CU Pedestal Position [Gain index 5]
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T02-FM119 pre-CU Pedestal FWHM [Gain index 5]
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T02-FM119 CUold Pedestal Position [Gain index 5]
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T02-FM119 CUold Pedestal FWHM [Gain index 5]
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T02-FM119 CUnew Pedestal Position [Gain index 5]
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T02-FM119 CUnew Pedestal FWHM [Gain index 5]

ADC units

ADC units

ADC units

ADC units

12

10

10

12

10

12

10

0

: : : : : : : o LEX8
X+ 5 5 5 5 5 5 : [eLEXI
: : : : : : : HEXg

b HEX

.....................................................................................

12

10

=LEX8
- LEX1

HEXS
- HEX1

Channel

oo

10

12
ADC units

o| EX8
o LEX1

HEX8

e e S 1=

é’...é.°'.€"ooiO"‘é'o"é..'oﬁo“'é"’.ﬁ."'é'.

18

16
14

12

10

- LEX8
- LEX1

HEXS
- HEX1

Channel

=10

=72
ADC units

: : : : : : : o EX8
X' H H H : : : : o LEX1

—_— . |eHEXH
S S S SN P12

Po®eese®e tog0ocec00qe 000000700, % 0 0000

..........................................
....................................................................................

.....................................................................................

18

16
14

12

10

N & O

=LEX8
- LEX1

HEX8
~HEX1

Channel

OO

BEL

2
ADC units

: : : . . . . ®o| EX8
Y- ; ; ; ; ; ; t |eLEXT

: : : : : . : HEX8
ek HEX

o : : : P : : :
XTI IPTTL LN N P I TI L LT L AL TR

8% %% % % %% % % %% % % %% o b % % % e e %% % % e e H % BB A h L BB e

12

10

= EX8
- LEX1

HEXS
- HEX1

0 5 10 15 20 25 30 35 40
Channel

70

T2
ADC units



[TO2-FM119 Test 2]

[pre-CU] mc_asymLL.051213202630_0_FM119_preltaly calu_collect_mu.T00.txt [ 25.0C]

[CUold] muonAsym.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_T02.txt [ 25.0C]




T02-FM119 TIME EVOLUTION [Reference=pre-CU] for Asymmetry-LL R-L [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for Asymmetry-LL R-L [Gain index 5]
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[TO2-FM119 Test 2]

[pre-CU] mc_asymLL.051213202630_0_FM119_preltaly calu_collect_mu.T00.txt [ 25.0C]
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[TO2-FM119 Test 2]

[CUold] muonAsym.330000866_BT13 IDEAL_digi_TO02.txt [ 25.0C]
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T02-FM119 CUnew Asymmetry-LL R-L [Gain index 5]
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[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_T02.txt [ 25.0C]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for Asymmetry-LS R-L [Gain index 5]
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T02-FM119 pre-CU Asymmetry-LS R-L [Gain index 5]
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[TO2-FM119 Test 3]

[CUold] muonAsym.330000866_BT13 IDEAL_digi_TO02.txt [ 25.0C]
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[TO2-FM119 Test 3]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO02.txt [ 25.0C]




T02-FM119 CUnew Asymmetry-LS R-L [Gain index 5]
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[TO2-FM119 Test 4]

[pre-CU] mc_asymSL.051213202630_0_FM119_preltaly_calu_collect_mu.T00.txt [ 25.0C]

[CUold] muonAsym.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_T02.txt [ 25.0C]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for Asymmetry-SL R-L [Gain index 5]
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[TO2-FM119 Test 4]

[pre-CU] mc_asymSL.051213202630_0_FM119_preltaly calu_collect mu.T00.txt [ 25.0C]
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[T02-FM119 Test 4]

[CUold] muonAsym.330000866_BT13 IDEAL_digi_TO02.txt [ 25.0C]
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[T02-FM119 Test 4]
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[TO2-FM119 Test 5]

[pre-CU] mc_asymSS.051213202630_0_FM119_preltaly calu_collect_mu.T00.txt [ 25.0C]

[CUold] muonAsym.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_T02.txt [ 25.0C]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for Asymmetry-SS R-L [Gain index 5]
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[TO2-FM119 Test 5]

[pre-CU] mc_asymSS.051213202630_0_FM119_preltaly_calu_collect_mu.T00.txt [ 25.0C]




T02-FM119 pre-CU Asymmetry-SS R-L [Gain index 5]
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[TO2-FM119 Test 5]

[CUold] muonAsym.330000866_BT13 IDEAL_digi_TO02.txt [ 25.0C]




T02-FM119 CUold Asymmetry-SS R-L [Gain index 5]
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[TO2-FM119 Test 5]

[CUnew] muonAsym.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO02.txt [ 25.0C]




T02-FM119 CUnew Asymmetry-SS R-L [Gain index 5]
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[TO2-FM119 Test 6]

[pre-CU] mc_mpdLarge.051213202630_0_FM119_preltaly_calu_collect_mu.T00.txt [ 25.0C]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO02.txt [ 25.0C]




T02-FM119 TIME EVOLUTION [Reference=pre-CU] for MeV per DAC - LARGE [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for MeV per DAC - LARGE [Gain index 5]
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[TO2-FM119 Test 6]

[pre-CU] mc_mpdLarge.051213202630_0_FM119_preltaly_calu_collect_mu.TO00.txt [ 25.0C]




T02-FM119 pre-CU MeV per DAC - LARGE [Gain index 5]
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[TO2-FM119 Test 6]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]




T02-FM119 CUold MeV per DAC - LARGE [Gain index 5]
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[TO2-FM119 Test 6]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_T02.txt [ 25.0C]




T02-FM119 CUnew MeV per DAC - LARGE [Gain index 5]
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[TO2-FM119 Test 7]

[pre-CU] mc_mpdSmall.051213202630_0_ FM119_preltaly_calu_collect_ mu.T00.txt [ 25.0C]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_TO02.txt [ 25.0C]




T02-FM119 TIME EVOLUTION [Reference=pre-CU] for MeV per DAC - SMALL [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=pre-CU] statistics for MeV per DAC - SMALL [Gain index 5]
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[TO2-FM119 Test 7]

[pre-CU] mc_mpdSmall.051213202630_0_FM119_preltaly calu_collect_ mu.T00.txt [ 25.0C]




T02-FM119 pre-CU MeV per DAC - SMALL [Gain index 5]
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[TO2-FM119 Test 7]

[CUold] muonMPD.330000866_BT13_IDEAL_digi_T02.txt [ 25.0C]




T02-FM119 CUold MeV per DAC - SMALL [Gain index 5]
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[TO2-FM119 Test 7]

[CUnew] muonMPD.digitization-latte-v1r030603p2_700000276_digi_DIGI_T02.txt [ 25.0C]




T02-FM119 CUnew MeV per DAC - SMALL [Gain index 5]
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